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R3
A01-002 L=2.0 [ [ [ [ [ 218
19-A4
R5
A01-003 1 L=3.6 [ B BN A B ] 110
9-A5
R5
A01-004 1 L=1.3 [ D B B 235
9-A7
R4
A01-005 101 19-A L=2.0km [ B BN A B ] 140
9
R5
A01-006 338 L=2.4 [ B BN A B ] 175
19-A12
R5
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A01-007 1 L=0.4km [ ] 70
9-A26
R1
A01-008 102 19-A L=5.5km [ T B B 830
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A01-009 338 19 L=1.0km [ B BN B B 180
-A41
R5
A01-010 339 L=1.6km [ B BN B B 291
19-A42
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A01-011 L=1.2km [ I | 120
19-A43
R2
A01-012 L=1.0km [ B BN A B ] 171
19-A45
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A01-013 1 L=0.2km ] 30
9-A46
R1
A01-014 280 N=2 " | = 80
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R2
A01-015 1 L=2.0km "= (m|mm 160
9-A52
R5
A01-016 L=0.4 ] 30
19-A53
R1
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R4
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0000367866




H31 |Ro2 [R03 [RO4 [ROS
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A01-023 ) N=50 m | m . 90
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R3
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19-A77
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A01-029 ] 100
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R1
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0000367866




H31 |Ro2 [R03 [RO4 [ROS

A01-043 394 " (== 70
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19-A116
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19-A141
RS
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